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» Please check that this question paper contains 10 printed pages + 1 map.

« Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

« Please check that this question paper contains 26 questions.

» Please write down the Serial Number of the question before attempting it.

» 15 minute time has been allotted to read this question paper. The question paper
will be distributed at 10.15 a.m, From 10.15 a.m. to 10.30 a.m., the students will

read the question paper only and will not write any answer on the answer-book
during this period.

e famm=
SOCIAL SCIENCE
Freiia @9 - 3 992 T 3% : 80

Time allowed : 3 hours Maximum marks : 80

Sa

[P.T.O.




T 1339

(i) 3G WT-9F %) qw @vel ] @Avilsa fFar 7 8; @vE &, @U8 @,
GUE T 3N GUE §/

(i) $9 9¥7-9T § FT 26 F5 8 /
(iii) 9 N7 g 8/
(iv) N% N7 & 3HF 3G% g 20 7w &/

(v) X¥7 GEIT 1§ 7 T%F 37l Tg-3I09 F¥7 8/ FdF J¥7 1 3% F1 & /
$7H & Y% 5% FT I 30 Fe5] & 31 F 78 8177 FET [

(vi) N7 &7 8 8 18 0% NdF §¥7 3 3F F 8/ 395 @ NdF o7 FT
37 80 Y==] G 3H5F F7 787 5177 T/

(vii) N7 T&IT 19 T 25 T%F Ned% W97 5 & &7 8 T98 G NedF 97 7
I 100 31531 & 7% 1 787 &1 TR/

(viii) N7 J&IT 26 FHIGT 9597 5 37F F7T 8/ 35F 31 97 & 26(A4) 37K
26(B)! 26(A) 2 37% F7 slaerg @ aor 26 (B) 3 3% ¥ Y07 &
&/ FrAfEF F71 797 QU &1 W 38 971 I-JIaaT & 377 7747 Fe/

General Instructions :

(i) The question paper is divided into four sections. Section A,
Section B, Section C and Section D.

(ii) The question papef has 26 questions in all.
(iii) All questions are compulsory.
(iv) Marks are indicated against each question.

(v) Questions from serial number I to 7 are very short answer type

questions. Each question carries 1 mark. Answers to these
should not exceed 30 words.

o
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(vi) Questions from serial number 8 to 18 are 3 marks questions.

Answers of these questions should not exceed 80 words
each.

(vii) Questions from serial number 19 to 25 are

Answers of these questions
each.

5 marks questions.
should not exceed 100 words

(viii) Question number 26 is a map question of 5 marks with two

parts—26A from History (2 marks) and 26 B from Geography

(3 marks). After completion, attach the maps inside your
answer-book.

Qus-<h
SECTION-A

1. R amiv vl & e 39t s % dey i e 9 s 6t

THar a?

Foar
TSI % T T fare s e w27

/Vﬁnat may be a goal of landless rural labourers regarding their
"~ Income?

OR
What may be a goal of prosperous farmer of Punjab?

2. i # it e e ¥ R 32 sawert 27
HAgaT
Hrifz 3em - freftaor 3 fre 38 seee 27
/ﬁow is 0\;er irrigation responsible for land degradation in Punjab?

OR
How is cement industry responsible for land degradation?
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3. SO H EY 8 DTS i qeeish hE IR 57
e

&l et # e wfEn 3 s £ A # aed § 9
HET 61 7

How had hand printing technology introduced in Japan?

OR

/‘iow had translation process of novels into regional languages
helped to spread their popularity?

4. SRS F Aiwar-rs U 58 v e s g #7

How can democratic reforms be carried out by movements?

5. 19 wreTedt % S A § snfdes A F ‘Serare’ F = Fif
HY4AT

HehiT e &3 o 311ieieh forems o wiehferdi % e 4 s fifs)
Interpret the concept of ‘liberalisation’ in the field of economic

sphere during the nineteenth century in Europe.

OR

nterpret the contribution of French in the
of Mekong delta region.

economic development

6. ‘W’W‘W’M%%Wm%.

Distinguish between ‘secondary’ and ‘tertiary’ sectors.,

7. @dF wonun’ %1 qee e Ea1E

Explain the importance of ‘collateral,
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SECTION-B

@qﬁmaﬁwﬁﬁa“mmaﬁmm?ﬁﬁi%ﬁmgaﬂmﬁ
IqTeY B T U7 Jarewvil aftd =men it

How had the Imperial State in China been the major producer of
printed material for a long time? Explain with examples.
OR
/How had novels been easily available to the masses in Europe
during nineteenth century? Explain with examples.

9. Wt W= g R o g Rrdtwarait w5 avis S
HITT
Gl T g Y o ot g et = A fifg
Describe any three main features of ‘Rabi crop season.’

OR
Describe any three main features of ‘Kharif crop season.’

3x1=3

T 61 ke 1 el i 3 st A v s e e
- TE? 3erEn gieq =men FHifs|
HUaar

fEFaam =t snfdw wfa & fow fidigr T smaedi % seewmi afee
=T hitfeu|

How had Napoleonic code exported to the regions under French

contrat ? Explain with examples.
OR
xplain with examples the three barriers that are responsible to

economic growth in Vietnam.

3x1=3
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11, ‘auf-sre quwor’ % WEe # ferwermor ifem

> 8 2 a S 1 M : '
Analyse the importance of ‘rainwater harvesting,

(2. Ioie s sfagfd Framor’ # sifter 1 vt R e e wEd
7 gerew gita s Fifs|

How can consumers use their ‘Right to Seek Redressal’? Explain
with example.

13, anfifs faema 7 7 3 sitvenfie g@idt % wees @1 vl fifs)
JHeran
SR F01 3 Rl 1 FSIERI 9 Y a1 gt INTE1 1 9 Fifer|

Describe the importance of formal sources of credit in the
economic development.

3x1=3

OR
Describe the bad effects of informal sources of credit on borrowers.

14. ‘TsHifa® aa & o et (aeat) 6 saren fifo) 3x1=3

Explain the three components of ‘political party."

15. WIa ° ‘qdgs &FF "eaqul 9491 & @1 27 e i =l €t s
ifsr)

Hgar

et 2w & gee 9te 3R (Sh.dd) T F % fore fafay agai
SR F=1aT1 =1 T € FH FA 87 Iare gfta we S

\/ Why is the ‘tertiary sector’ becoming important in India? Explain
any three reasons.

OR
How do we count various goods and services for calculating Gross
Domestic Product (G.D.P.) of a country? Explain with example.

_ ome |



“Consequences of environmental

. degradation do
national or state boundaries.’

" Justify the statement.
17. “ﬁ?@ﬁm%mﬁmmﬁm%fﬁmaﬁmsﬁﬁm
IR =y oft 8 et 2

not respect

Ush {1 &7 2
i afed 3w Hed i g i)

AT
“mmmﬁummﬁl”wmmﬁmml

“The assertion of social diversities in a democratic coun

try is very
normal and can be healthy.”

Justify the statement with arguments.
OR

cs.” Examine the statement.

18. “‘wrg # A % e § wfeensit f fa § Fo guw gen 2, e
3T+t gEsi & Fh S €1 39 w5 fvem i |

“Women still lag much behind men in India despite some
improvements since independence.” Analyse the statement.

/
S

Social divisions affect politi

3x1=3

QU -1
SECTION-C
19. ‘SHTEE wraredt 1 fava steforawen w1 w9 77 w0 F ey SR Y
37&Y qiHe1 921 i oft | 39 Fu 1 faveyo v
AT
Sfree yaTedt % YEet <9 a% WG § freyfiE 1 w@Ey w5 aeedi
i =iz # 30 g 1|’ 99 FuA F fave i
AT
‘sufes FTe 3 shefie 3 TR EeY T e 9N e 2
e & faere Has 1 39 Fya 1 favetvor Hiftm)

“Indian trade had played a crucial role in the late nineteenth
century world economy.” Analyze the statement.

IXI=S

OR

“Series of changes affected the pattern of industrialization in India
by the early twentieth century.” Analyze the statement.
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OR
“Industrialization had changed the form of urbanization in the

modern period.” Analyze the statement with special reference of
l.ondon.

20. 1930 ¥ forem aferdi it ‘affg af weifgesm’ & gnfdq frar? 39

Iycifeeri w1 avia Fifsm) 1+4=5
HYGT
HlaT a9 A’ se 1wl Fifd qfaTg s sEeas’
q anfi SV o wgert < wesnfivar < avis o)
Who had organized the dalits into the ‘Depressed Classes
Association’ in 1930? Describe his achievements.
. OR
- Define the term ‘Civil Disobedience Movement.” Describe the
~  participation of rich and poor peasant communities in the ‘Civil
1 Disobedience Movement.’
|
| 5 :

21. mm%mm%ﬁmmﬁmaﬁa
=TT Fifsu | 5x1=5
Explain with examples any five factors that are responsible for
industrial location.

22. feufq, smerm i wicEfas veqel F Smun w AfREg ot sfeier 6
Teafa <t gomn Hifsy 1+1+3=5

HYTT
qrRert = faaw 4 |9 HAT? GHT &9 | Y=ferd 997 #1 9reer +
Y i sgre i)

Compare the situation of Belgium and Sri Lanka considering their
location, size and cultural aspects.

OR

How is the idea of power sharing emerged? Explain different forms
that have common arrangements of power sharing.
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23.

24.

28S.

26.

9 [P
32/1/2

”Wﬁmm,ﬁmﬁaﬁmaﬁwﬁﬁ!m%r’mﬂ
st JeTeon wfi gft Hifs

“Roadways still have an edge over railways in India.” Support the
statement with examples,

e o foheell it aftomd =1 quf o)
Describe any five outcomes of democracy.
vt 3 fohedi it w6 we ify

Explain any five effects of globalization.

@UE-g (AT 99)
SECTION-D (Map Question)

(A) 2l w& A 3t B U 7u wna ¥ worifos ta-gmfaa § sifed
foe e 2| 39 S = Frefafas smed i gema @ vgat
3T 3ok T AW Al = 7d et w fefau-

(a) & ¥ Tl I T FE =1 feEem ga
(b) =& T el Siferaiare & 6 weAr g

(B) 361 fou v vyra & usHifas tar-wmtes § fefafag & 8 e
o1 =1 39g 9@l | 2913T, 311 39+ 9 fafau:

(i) Fo9aFd - ATvaF Jeil 994
(i) fasEam - e o soe 9499
(iii) ATTST — ETFRAIL SaHTersit reh
(iv) 9RIET — EH3 994
(v) TER Ut - 9y

frafefaa uva wae gieartie gienfiat & fau v de 26 F
mm%ﬁaﬁmm =

(i) 38T F: AW feifae st sfoatarer am i gz g8

(i) 38 T3 F1 AW fofa st st 3 99F F3° dqren)

(iii) mmmm%f‘@q:ﬂf ‘aﬁﬂ-a‘trr’qzmﬂi%agﬁl

(iv) Wmmmmaﬁmmmﬁa?l

1x2=2

Ix3=3

1X5=5
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(A)

(B)

Note :
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(v) 38 T &1 9 ferftae stef fesmam avar i som oy oo
R

(Vi) 38 T @1 A fefae el fuer givedsr dweish g
feora

(vil) @R g0 a1y g a8 gz e 27

T'wo features A and B are marked on the given political outline

map of India. Identify these features with the help of the
tollowing information

and write their correct names on the
lines marked near them.
(@) The place where the Indian
was held.
(b) The city where Jallianwalla Bagh incident took place.

Locate and label any three of the following with appropriate
symbols on the same given outline political map of India.
(i/) Kalpakkam - Nuclear Power Plant

National Congress Session

1), Vijayanagar - Iron and Steel Plant

(1) Noida - Software Technology Park
(i)')/ Paradeep - Sea Port
(v) Sardar Sarovar - Dam

The following questions are for the

Visually Impaired
Candidates only, in lieu of Q. No. 26

- Attempt any five

questions.
(1)  Name the state where Jallianwalla Bagh incident took
place.

(11) Name the state where Gandhiji violated the Salt Law.

(iii) Name the state where ‘Chauri-Chaura’
place.

(iv) Name the state where Paradeep Sea Port is located.

(v) Name the state where Vijayanagar Iron and Steel Plant
is located.

(vi) Name the state where Noida Softwar
is located.

(vii) On which river is Sardar Sarovar Dam constructed?

; i

incident took

e Technology Park




